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The wavelongih of violor colour light is (8]
qhﬂﬂl i y
| = 10 mim

m-llpm (B)
|:E} 455 -0 mn | (D) 230-310pm

Butier is s exampleof a
(A) SuspenEian
(B eolleidal solution

() esmuilsion
() amalgnm

Which o ihe following salts will NOIT
have U molecules ol water of
crystallisation?

(A} Glauber'ssalt {B) Washingsoda
{C) Borax (D) Epsom salt

Whao fonded the Allahabad Lim

»

(C) Sir'Wilham
() Madan Mohan

The first woman ChidrMiniittl;' Wi
appointed in [963, Which Indiany sie

ment did she lead?
|£A;:| Linar Pradesh [{B) Tamil Nadu
West [lengal () Assam

Q6

Who was clected as the Chiefl Minister of
Uitsr Pradesh (n 20177
il wi
Yopi Adityanath
=) ilesh
Ei? “Mayowati

‘I'

ant

. Q7
I'F'-?'II of 1he following is the stale bird

Pradesh?

e

inufisher
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1@ - 1| pm (B) U=
[icy 455 -390 nm| (D) 230 -310pm
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08 - What was Littae Pradesh known as from

the vear 1937 - 19507
(A Vliara

[(B) Uniied Provinces |
(C) Unar Province

(D) Ham Krnishna Pradesh

9 The Kailash Fair is celebraled in honour
of Lord Shiva in which city of Uttar
Pradesh?

|;|""|.' .I'LETI

0] Varanasi

(L) Kanpur

(D) Lucknow

Q0 Whach of the following is the longest canal
of Uttar Pradesh?
(A Agra Canal
| 181 ShardaCanal |
(C} UpperGanga Canal . 8
(D} Lower Ganga Canl 5 Dl

L0
}' % Qi Inwhi:h;urdﬂﬂ_,lllurﬂ,han&mmniﬁ*
exstence? s Y.
[w2o00 ™ N
(R) 1991
{C) 2016
ey Lo (D) 2011

-':T-'_'._‘_a_i@'ll in 1930, CV-Raman won the Nohel FHEIII:

.
3 dar

AUESEEE  (A) Li
E .{l'.",l Phytics

3 - Hﬂhuk_hﬂrm“s.ﬂm
.- } of fen bles a5 poems? acollection
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i

1

{B) Peace
(D) Economics

B "“
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ame The st ppem whillen by Qla  eframon Ao gl el 'H':',' HTEﬂ '-J'im'ﬂl'
Harivansira Bachchan, 71, T
(A Ek Movermber 1984 I{_A} U THEY 1684
(B) Chal Mardane EGETL
(C) Do Chattane () © mEr—
(D} Agriccpath (D) 3ifFuey
Q15 The blond group system was discovered D15 T IWE womah 7w 3
by | =2
(A) Friedrich Stromeyer (A) Hefts i
(B) Karl Wilhelm Schecle (B) el faedsr A
(C) William Murdock C) fateram wahe
ﬁ “I}j Karl Landsteiner | MEGEEET
1IT.|' Ji6 is a computer worm that Qi . gy o & Gt alteifa
targets industrial control systems. [t A W 1 W T & ) 5
afacked lran's nucledr proweram in 2007, 2007 W Y Y Nl
{A) Conficker (B] Stuxnet ﬁa:q;ﬂ'r |: ﬂ__.-'.-' >
. (C) Zeus (D) Sasser - 4&'.’% EEb wIaie |
E’ ( Do D o
J
- Q17 The strait between Tamil, WIJJ e Qi o Hﬁﬁﬂ'ﬁ_ Jﬂ? stae & o= frd & h
E Mannar district ul" Sri'tq.nrﬂ i5 *.I--_ e A e urerERl W W e @
w \ | Er ﬁ
y (A) Eermrr'-hheh {; Ll A) T RASHER ’
E [(B) Palk Sirait | o (B TF WISHNRA v
(C) Sunda Strait " (C) = AT %
(D) Maliku Kandu (D) ¥ &g
B QI8 Which of the following slates of United Q'8 FYetfiiitma & ::5”“ ol qf“" ® %
States of America does NOT share 2 oot ﬂ“E' i $!m'5ii'$ . i
%  boundary with any other US stale? M Fm

(A) Florida
I(C) Rhode Island

(B) Alaska
(D) Maryland

E7
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(A) Ankar (B) Doha (4] B (B) g
(C) Manama (D) Beint [ (£ == (D) ww
Q22 wasthe fiest woman speaker of Q22 TE! AT S
the Lok Sabka aemer o
(A} Sushma Swarg; (A) ES LT |
[T Mt Kemar] B) S0 §
L) Fratibha panl
(0} SumitraMahajiin , W’f% TR
Q23 The Sepoy Mu L.~ 7
md:u:? :““:r of the 1857 wanal Q23" wtdar ®mm 1857 @ Ry ek
encenappened in which cicd? T ?
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4o Which of the following is NOTone of the Q20 e
) t!f“fm of United Arab Emirates? o U AR T &7
Al Muiseal | EH-} ﬂl.lh-ﬂ-i [rriﬁ] ':Ej T‘i
(C) Ahu Dhabi (D) Shagah (C) 3'1-‘1 T (D)

Q21 Which one of the following & the capita | Q21 fy=fefan # & T ™ T T,
ol Bahrain? TTAETE?

(B Hidembad Gy A) st
5, [ . . (B) Eevmame
-4l "_' o C) R E.C

(C) Delhi
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prepated the initial dralt ol the Indian
siiution i Fehruary 19487
) fiechar Kamimanohar Sinha
) Nandnlal Bose
(C) Shyama I'rasad Mukherjee
(] I_!nanmlHa:.r.mg Rau |

i Umpid BDhawan Palace 15 in which city?
{A) Udaipue (B) Jodhpur
(C) Musuru (D] Jaipur

b Lavani is a famous folk-dance form of
which Indian stale? .
(A) Uttar Pradesh |(B) Maharashtra |
(C) Sikkim (D) Tamil Nadu

I Which was the last year when the Rail
Budget and the Union Budger were
peesented sepacately in India,

(A) 2016 (B) 2012 _

(C) 2008 (D) 2nna 0 )

| Who was the firstgde fagto Gﬁ!urnw

General of India rmﬂﬂ}ib | 1s5r
(A) Warren |lastings
(B) Lord Minto

(C) George Wautson
(L) william George Wallker

Il The Investment Information and Credit
~ Rating Agency (ICRA) has its

8 hll:’qulrl:rs n
{A) Mumbai  (B) Bengaluru

(C) Gumj,,mml (D) Chennai
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The Tiest wivil aiepont ol which Indian stile P Feras aoan 0 Bkt sirafia v i o,

Witk i|1.'|ugura||;d on September 20 187 sprrh g BYerTreTay Ay e op By iy
(A} Sikkim (B) Mizoram w7
(C) Napaland (D) Manipur |I:M fala (13) feraren
(C) nmdve (13 nfoyse
Q353 The tirst DefenceMinister of independen 035 i e o UBE e gl )
India was " (A} hare = C (|
(A) Kalash Nath Kayu (By VK W d
(B} VK Krishna Menon (C) wemen fm
(C) Valdev Si_ngl:_ql ;m ] ol
(D) Yashwantrao Chiivan
Q36  The island which has Sardar Vallabhbhai Gallect i qul.'u'
Patel's *Statue of Uiniry * 15 located in whi U6 £ o2 B

river? (B) e

[(A) Narmada |  (B) Sa Aﬂﬁl (D)
() Tapi w;

Q37 Polien is produced Y whith F""‘al_““ Q37 A % frw fes & o @ we
fower? B #7?

B2 521 «

ded - SR, SR, WAPRIE 9 2aR

(A) Ovary [ (A) BT (8) dramg
; ) Pwm () ™m@]| (D) gm-uif %
i
~ Q3 Which bacteria arc oval-shaped or Q38 T w1 AN, dETee T SR e

spherical? g7 : i

] (A) Escherichilacoli (A} THRfEm FEm
- [t" Coceus g

4 (C) Bacilles (C) e
; ﬁ' () Vibrio (D)
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U

ler bouglin 7 articles for 10 each, 9
s for T11. 14 articles for 715 each.
the selling price per anticle if the profit
pposed 10 be 20% of the average cost
ice, :
A) T15.16

"{Cy 21524

(B) 215.20
(D) 71528

Aand B can complete a task in 12 days, B

and C can complete the task in 16 days, A
and C can complete the task in 24 days. In

how many days will they together

completethe task?
(A) 9.33 (B) 9.67
(C) 1033 (D) 10.67

A man completes a journey in 5 hrs He
travels first half of the journey at the rate
of 21 kmih and the second half at 24 km/
h. Find the totw) distance travell |

[(A) 112 km (B) |16&m "r_‘:_,l;".--.;-.
(C) 120 km {Df;iﬂ-i"s.:g
. U Y

The ratio of spu:ed::? wo gjnslh'ﬁ:ﬁ.
The second train covers#80 km in § hrs.
What is the specd of the first train?

(A) 60 kmih (B) 65 km/h

(©) 70k 11p) 95 kn]

43 The length of 4 rectangular plat is thrice
" its breadth, The area of the plot 768 m*
i Find the F;ﬁ meter of the F]Ul.
h (A) 120m (B) 124m

. [©in]

A j-.ﬂi:,il number ABC, where A is at the

hundfedth place, B is ot the tenth place
: "lﬂff-f'hu the unit's place, (8 ro-written _'.'
A C and is divided by the LCM ol

https://utkarsh.com/student-corner/pyq

(D) 132m -.

sa IR en
TAETER

NUMERICALABILITY

039 & TEw fadm A 210 WA 7 TL,
TR TWAgTRE AUSHA WA 14
TR wdrd) | uf v R g e e
af2 = @en & ¥ sftvwa @ | W

20% @ B TR |
¥15.16 (B) 215.20
(C) T15.24 (D) 71528

Q40 A 3 B 12 R # uw oW G W
wr & Bav c o @ 18 Rt F O
g wE £ A v Cof) o 24 At

T T o & 4 S Faw 7 am

Qi 6 37l 5.8 4 v et g e &
g#ﬁ# T @ A A 21 km 9fY
L~ maﬁﬁﬁrim avan &1 o @
I
(B) 116 km
(D) 124 km

™ (C) 120km
Q42 = @y A R T e 56 B
TN YETE § 62§ 450 km 7@ HTH
o o iy o &7
(A) 60kmih (B) 65 km/h
(C) 70 kmh [0y 75 kmih

3
g

Q41 Tm stmems EE W O THE W
# R & e @ dEnE 768 me g

yiEs o qftmm 9 |

A 120 m (B) 124 m
1{|::i @m (D) 132m

3 N o O FEN ABC & R A i
Wi %, B T W T W C g
T WX # 1§ WEN W ABCABC wy

ﬂgﬂ:mmnmhmﬁl?,rtah;;*
mr wusad A Aot g

BHEL O PRI EE b0

Qa4
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045 A S-digit rumber 247XR is divisible by 44,

Which digil can replace X?
(B) 2

(Al
() 3 (D) 4

Q46  Finul the product of the square root of 256
a! square rool of 16 and then find the

reswll's Square root.

(A) 4

() 8

(#) 6
(DY 10

Q47 {wo chairs and a 1able can be bought for
2170. Five chairs and four tables can be
bowght for 2530, Find the cost of a chair.

Hed - SR, SAQE, WAPRG 9 #aR

(A} 240
(C) 260 (D) 270 .
*33»-;.
Q48 X has a balance Enl‘.
l:i:cl.lnL'IH'
[ ld nwihdr
i :A} tsﬁ‘ﬁ"” hﬁl

(Cy WS o (D) T79.51

Q49 The HCF and LCM of two numbers is 2

https://utkarsh.com/student-corner/pyq

ﬂmlﬂ”i"
TEDIED

O4S T § i) o) T 247XE, 44 fads,
gt & | T T 366 X B ufinenfon 4,

) 87
(A) | (B) 2
(€] 3 (0] 4
Q46 256 @ DA 3 16 B A B o
i B R 6T ofam @ ot
SR o |
(A) 4 (B) &
[T ] (D) 10
M7 @) gidgl A 2170 A Gl =
A wm o e

i‘meH o A

Jl_".
(B) TH0
(D) T0

3
g

Iﬂmhmﬁ#ﬂﬂﬂwm#l
267.14 o0 T3 3R €70.16 A e
& are 7w i @ gefi?

(A) 28651 () T87.5)
(C) 27851 (D) T79.51

BYEL RAUE 24 <

Q40 2 weml w wrem weusde oR

:. and 72 respectively. The bigger number is AR AATE w2 AT wdl
2 more than twice the smaller number. | e oY e & D g A2 afw B 3
i Findihe smaller number. o) wom e 2
4 (B) 6 (A) 4 (B) & 2
&: ©) 10 (C) 8 ©) 10 3
T 5
Tad 1l xy 4 12 =9 g
* "'H“ L 'm": 7" l'mllhnrllu:nf: Q50 mi:m:zé=i.ﬁxﬂmmﬁ| g
ﬁ} 41 15 (A) 12 (B) 15
e L o [eF ]
e 2 Qsi B0 ESK P 120% B 40% T+
i i () 320 (A) 283 (B) 320
(C) 360 { D4 (C) 360 (D) 400
Wrong Options

N I
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J 11 an arvcle was hought for 2300 and a
repairing churges of T50 was paid for it
and it is suppased 10 be sold at a pralil of
20% prolit on the marked price which is
10% of the cost price. Find the required
selling price (in ¥).

(A) 440
(C) 462

(B) 452
() 478

What is the total percentage discount
applicd when 2 successive discounts of

20% and |1% are goplicable,

(A) 25% (A) 25% |;E! 289%
(€) 32% % (C) 32% ;ﬁl (D) 36%
e ;:-::1'«.’_1,- A

Find the rate of interest if the simplc 8T {h E’Eﬁﬂ.ﬂﬂﬂﬂ'_]ﬁlﬁﬂ?
interest on a principal of 21,000 gave an ﬁ?ﬂaﬁ ; s Sl Wﬂr =T T440 T
interest of 2440 m aspan of S yeas. o ) [ o

A) B4%  (B) 8.55% 4 n'i,’“lj;_:,ﬁ&!m 4% ) (B) B.55%
@] o [V ] o

Find the time for wh
of ¥33] way géncra in:iplguf
21,000 at an annual jngeresi ral '-EE-IHE

b ]

(A) T year
(C) 2.5 years

Three pariners, A, Band C shared prafits
inthe ratio4:5:6. 1fC's share of the profil
was 200 mare than thal A, find the rotal

srofit generated by them.
@) *160
(C) 21,630 (D) 1,750
Three pariners, A, Band C shared profits
(a the ratip 2 : 3 : 4. A new partner D

ned who ook hall ol the shares af each
Ldmd C.IrD's chase of profit now is 7100,

find the 1otal profit.
- [A) 2200 (B) T250
(C) T27s D) ®300

\ !if;;:f_ ?
a k

Q57 dm wwe, A BN CHA 2:3:43

e
TEDIEP

(52 al® v awg vaon A @l wd e oA
q¢ TS50 oo o o A wrdd f0 a Al
7 i e v 20% TR 92 a0 E
ity i f6 e g W 10w #
STIPEE [ g e 8) s wd)
(A} 440 () 452

[rere7] (0) 478

051 ar eF ar) {9 vl g2 o R
20% 3w 109 &) &) AnEw ge any d
andl &

T FTATER] T AT W fore 71,0003
AR 97 avE 10% @a g¥ 9 133

T ahgle @ O B 4

=

3
i

(A) 1| o (B) 20
2599 Em 3 E

Q56 dF Aren, A, B3R C 456 % Jqum

A ans g &) afe @ i Can R A

oW germ § 2200 M B M TR g
oI I AP I T | '

|(A) 21,500 |
{C) 21,

EYELG PRUIE 226 «

(8) 71,600 ,
(D) 71,750

arqur # @n 1| U6 A0 WERR D
aihe gan forerd AN CHls @ e
qﬂmlﬂ'ﬂﬂmlﬂﬂﬁwﬂnm
fitem @ 7100 & W TF A W B

(A) ¥200 B) 250
(D) 2300 ]

(') 1275

) e ]
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Iy aype ol et Feloww g optons cusasts
i »
wands Clioose the best pai 1o

the pair 1 the guestion,

s I~ :
will [reis il

sk wfils
Tsc i ¢ M

(AT Judgs : Lowye
[T Owner Sial

'y Chel :Water

() Engiver : Driver

059 Sebeet the alternstive b is related Lo the
third Aermh I the spwe way o5 the secand

tenm s related ko the Birst tenm.
POR:UTS 2 ILMN 7

(A) OPQ - |mj iwﬂ i
(C) NML (1 Poo

Q6 Find the alicenative that can be a member

af the given group/class.

Pathology, Radiology, Cardiglogy’ | ‘x._

B _;"‘:Fj 2 I.'EIE':" r.' 7

AR) T35

| . (D) 155
!' i Fﬁh@hﬁng nusmberf (X and ) in'the

= eries and find the value of Y. X:

25, 26. 28, X, 35, Y, 46

(B) 8

(D) 10

B 544,524,3212, 3248 32 240,77

S (A) 32 1700 TTE) 321440 |
(€) 321320' . (D) 64 1440, .
3 1 : .L"":"."T'r r.._”r_ o -.--.- &

i A
i 141

U0 Hematelegy  C

0858 Tl ﬁ:’l'm"ll"ﬁ Wm0 e v
ofld @1 e A (R A0 Gl @ NE

B kel Y |

divee

(A) Gl ate

(B) ' fer ¢ uTan |
(Cy wNgu @ 49

(1) ol R : TETaEn

oso aw e o g &Y ol f g g
afll weE el B W a@ g w
Ted e W e &

I‘L}I-l" UTS = LMN @3
(A) OINQ 3 () Qro
JdE) NML T,

ot guRee g s @t @ Roow

gy wheET wEE B

R0 R, exefin A, geadnfiar
ey MR SNEfEE g3y YTl
“L(C) Mo TaEmE | (o) SRR

Q6! . Fm g F
1,8 27.64,7

(B) 135
) 145 (D) 155

Q62 sfen & T wey (X i Y) g0 o
WRY-X W 7 o e
25.26.28 X, 35, Y, 46

S KA (B} &
(Cre | (D) 10
063wl wr g wiver gftg o o
bz ® arene g v
323,324,32 12, 3248 32 240,77
(A) 32 1200

ﬂﬁlﬂlﬂm“
TEDIED

3
g

BYEL RAUE 24 <
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Fall il miissing value i this series:
C2BA, IESLD, THGE, 7

(A) JI6KL B) LI6KJ
{C) MIGND (D) O16NM

i Which e in the options will complete Q66

the following series:
A LB

Al DY
(C) EY

() D2
(1) E. X

BT X bicycled 15 km north, then 20 km to Q67
his lefi, At least, how maiy more kmsdoes
he niced o bicyele to returm to his original

position?
(A) 35km (B) 15km
{I2) 25 km | 0

{C) 20km

Ist car travels nocth 10 km, turns I:fj._.and B

‘--"-.

Q65 &9 s & gm o Wi

C2BA, 1141, HGS, 7

(A) JI6KL [ty Ligk) !

(C) MIAND (D) O16NM
It 4 Fm gqm Freafafea gae
B T A7

A, LB

(A) DY (B) D.2Z

) EY (12) E. X

X # 15 km IR § W fie a9 ang
3 20 km WSS T | 9 HVA 9
WA @6 BT B [T o @ 39 AR
ﬁmﬂﬁﬁfpﬂﬁmﬁﬁﬂﬁaﬂm

g 1y orad W G 10 km @ gy
Wi &, W e & Y a8 km AT

goes ahead for & km, The Znde :I"
south for 3 ki, Iurn“\%nd@ \b|{ﬂ"|mjkmzﬁmiﬂmﬁ|ﬁﬁ
ken. What is u:: d@n ‘bewicen the > ¢ am g&d & 3iv amt 8km A T

- ..i,:i ) T "'-.t_,.
(A) 5km Fﬂl krn

(C) & km {.-)"

9 X walks 3 km away from his starting Q69
point. He turns right and travels a further
g km. He turns left and walks ahead, bul

. notices that he 15 in the opposiic direction

T ik

E
E Two cars start from a common point. The o {:ﬁ%ﬁfﬁb . W ﬁg A g Bl &)

T &) 9 o & die ) gf om @7
(B 10 km

(D) 15km

(A) Skm
{C) 8kn

X o gt fg A 3 km o 2
T8 EW gEa & o a9t 8 km ot amn
wrl # ) ag A g2 # ok am e
8, & o e & o & 6 e ow

:.-l ﬂrwmheﬁi“ppﬁﬂdmbﬁiﬂ HEI“M m%mm#tm E’ﬂ m
by walking towards east. In which mﬁﬂﬂraﬂﬁiﬁﬂmﬁgﬁmaﬁ
;'.r dlr:f-llﬂ" i% he SI.IppOﬂd o Eﬂ? Eﬂ | 'q TICH) t:'
i ﬁ‘ m fBl EIH
Ew] Oy o W
7o X avels $ km l"lmiﬂ?ﬁﬂd Q‘T x.st‘.L uﬂ-uﬂmmgqm
" coyers 7 km. He Jirarns right §RFT m’lm-.mtrl‘hl;

g5 km, In wh'lch direction i5 he

B Eas !

- 1 Y T -
PR o o7 T 31 o

(A) TwR
mm i

mﬁmtmam'!nmaﬁmmm
B & fFm fm o oo 82

ﬂmlﬂ”“
TEDIED
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H

Q7 A statermen! 5 EIVEIL DEREX, TP
o conichmions- 1 and 1 You have 10
cuisiler the stutement 1o e e even il
weemns (o he al vanance with conunoinly
known aets, You hinve o deeide which of
e given conchisions, iTany, follows fom
the given stntements,

Staternent | Company ADC has marketed
the product with e fullowing slogam “tio
abvend; purchase W0 the price and gquolity
are your consuleritions”,

Conclusion 1 The price of the produs
mvist e high,
Conchusion 1: The product must be of u
gotd gualiny.
; (A Only conclusion | follows
- (B) Only conclusion 11 follows .
TSR T and 11 Tollow

(DY) Neither | nor | I'n'lhw! i !a-

. i Q1 A statement is wiven ﬁ'ﬁhﬂ:dh‘y

-, L2 \wo § umczﬁ.‘ | and u havdun °
o consi uaﬁmn?h ’gl:‘- i
s - seems inana.nc:ﬁ;w!jh r!nmrnmn.lu;,-

{known facts, hl'ﬁ:u:rd::m: which of

the given nr:;ﬂhr:nh. if any, is strong and
- supports the given statements
ity

4 8 tement : Should taxes be abolished ina
i;nu couniry Iuh: 'm:llﬂ

o

= 3 1: No, m“"# E.Mrd souTCE
!? Bovemment 1o take sieps

'I_'F"I‘II'H ol the country.
2 Yes, thess taxes ure NOT

sf'wwm S

- P

L IR L),

." o
[
' - g s b B

E "
1 [}

https://utkarsh.com/student-corner/pyq

fﬂ

|
ﬂﬂ ﬁwm—mﬁiaﬂﬂ‘mﬂ?ﬁ';

L4

TSV fozevn
o

G| T'Hl.],q \
e 1 1R e B s g T

e aEEn B e 8 ue A i g
i el @ ME W ey g
st < eeent & 10 TRy Pregd g
THEPTINE L M A E Y SRR e
i AR e §

aeger el ABRC A PrElEltm @
aer el eure & v fsm g
i wi AR e ol |vmen )
weifmaan & o 39 @i

Prept | @ o W oot aRe
il &
hnni;n m W T W ¥

TECEE ol .

Amﬂﬁ a7 @ () argem we B

s 2fag v &y gw wA O

W AL B A 8 ue am IR W
mﬂmﬂmmma‘nm
98 Ty wen & fs Ry g aA A 9
@Y T, ufy w0 §, fany mm Al @
YTET T B

TR ¢ R oA ﬁ‘ﬁmmﬂﬁ
& @ wra frgr Ten anfee?

ek |27l o Rwre v R EO

T wen war) @ fre aw ag @ I°

o # @

nﬁz:ﬁ,ﬁm‘immﬂmﬂ

T : |
L

;
:
:

(C) T 13t 2 ovt o €
(D) 7 th 7 1 o A B art 2790 F

siaded 1521 Ppow s
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Fwostatement are given below, followed
by three conclusions, L, 11 and I11. ¥You
nave 1n consider the statement 1o be true
even if il seems to be at variance with
zommonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given stalements.

Statement 1: Every man should have his
identity card with him

Statement 2 ; That card should mention
his blood group, complete address and
telephone number for contact, in case of
CMETEENCICS.

Conclusion |;: Blood CANNOT be

=
transfused until its group is mentioned in
the card.

Conclusion 1l: No one is supposed 10
E; forget his phone number under any

ClrCumslances,
'E;

Conclusion (1l: The paolice nn:;i;.ﬁs

{A) Only conclusion | I!'nllqhg. ‘-.1\

:E (D) Hone of them follows _ ___;,-r‘*

14  Which of the words CANNOT be formed
by the letters of the word
“CARABINER™
(A) Crab
(C) Bare

I{B} Nine i
D) Rice

i75  Which of the following words does NOT
have its vowels in an alphabetical order?

i_ Vv Aerious (B) Materious

(C) Imperious | (D) Facetious

p76  Select the option that i Felated tothe third
: uﬁ-rdnnth:u_mhni:u'.h: seond
word is related to the first word,

+ :"'. . 1CI'HI1!“,B¢IF 9

B e

information if the injury hi#? b

"Jj: | ‘TP || M w &
) Dn]ymnclum fiol ., 3 aa e (1 Foam E_J
: I_{LCI Only conclusion Ry "

Q7. T O T oY e are i e,
LR R T #) ey §H
7w s B, ud 8 1w am iR
W g mdl A FE wdw o 8y
ST aE qu e & & R AP
# & st Feed, oft &% R
w1 wgae e B

A 1 T anfd @ T 39 vEa
ga @ Ty

Fo 2 YTASE # oA § 39 o
TaE T WE, @90 & AU @ oo
¥R ¢diem 0 WSy & @
TRy |

WiE @l

§ ot

qeEe |
n: mm@aﬁmgﬁm
: '* = & anarawm B £
¥ G

o #

Q14 "CARABINER" W& & 371 ST 3

weg mEa T4 far ke £7
(C) Bare (D) Bice

fa=faftm 7al # & 9 T2 & wy
TN T w36 27
1 Aerious (8) Materious
Imperious | (D) Facetious

Qs

Q76 2H fwm = ag 7 W e we

T TR A e & G v oeen

e gE we A wafon B

- e - o v
L-Tlﬁ}w . =

~d

=

Ham €

Hmm""
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HAGI D
(177 Which of the following cubes in the QM war Aph A frm o W T
answer lgrure CANNOT be made on the T (AR R ) o el | =161 T o
basisof the unfolded cube in the guecstion w22
i 0
L]
0 vl = 1O
% |O !

Wead the Tollowing information to
unswer the given {ITI'l ln%ﬁﬂ]

SRS

tpmrm

A} The applicant Must BE bom
country nrmﬂd 1o n:bimn n
couniry,

B The Ipphl:lpb‘ﬁwhl possess 1he

: unique identity card for prool of rame,
it address and age.

3 C) The candidate should produce | 2th

A pass eenilicate Toreducation proal iITNOT
i Iminoe,
D) A nunor is under 18 years of sge. A
minos should possess the umgque identity
eard of cither parent,

HIPCHST <o - AL, A9 A9FIKIA 9 5GIK

L' : E) Fur reissue of passport applicani

3 i Wi sisbmit old passpon, For fresh isaye

s applicant chould subm it afigayii.

i Hower g, in cane an Inlﬂuu whe Wil
% 8liaber criveria EXCEFT.

'lrhhq, incasy
“ "W'ﬂf Hlﬂlllll s

I:Iﬂ'u

gjuestions. = g : ¢
lemmgmil\gqﬁ%n! ﬁb-"!.lmg

7 e

A) TS W A 2w A E i W
0 ¥ $ ArfiE & w o @
ey |

B) umrew & g M, g e W B

wrg & fop afgdm ogom T3
ey

|
C) uf} andvem R 8 & @
TEd w3 IR B T
ViR B
D) 1 3 A w7 98 & i 1
mitn ARt & o v R o 90
T TEUR O g w0 a0l
EJ AR o ol o

Eﬂ TR T e P
b fn oy g5 W F'I‘Tf't'}
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y
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abov ¢, il applicant has NOT passed
.the application is referred 10 passpan
Ofice.

F above. in case the old passport is lost,
siie apphication will be treated as a fresh

| ISFLE.

Based on these criteria-and information
provided below, decide the course of
action in each case. You are NOT 10
assume anything.

1 5-year-old Vijay was bom in the country,
hasthe unique identity card, has NOT yet
passed his | 2th and has his old passport.
Only his mother has a unique identity card,
but his father does NOT as he was NOT
borm in the country.
B resor |
Ject Passpart
{C) Refer o head office
{0} Data inadequale

1 .'-i*.

2]-year-old Sam -smmadﬁRnauhun \

acitizen of the country. ""H'hs the required

affidavit for a fresh pasmﬂt has the

unique identity cards both of himsell as
wellas his wife.

(A) Allm Fasspor

(B Reject Fassport
(C) Refer 1o head office
(D) Data inadequate

Seema has lost her old passport, She is 75
years old, was born outside the country
andshe docs NOT have the unique identity
card and is educated till lh: 10th. She has
the affiduvit

[-I"l-'.'p .M'hl I‘nﬂpﬂﬂ

Q7

2) C audign, af2 amdTs & S wRed
afel 98 o & a1 wdTa grage
mu-firm # fom oEn £

3) E woven, af? [Pen med o
£ o arire B T AT W

49 feo m g aeEE) Al o @
AR WY urre word f sderd) & Favtg
A1 am Ho N ¥R am F T TH
T |

15 affa v & &= 90 ¥ g oo
oE Wpdm tEe 93 & e w
e # ol R A W@ 2 IR
THS T SHw g GEaE # ) Fad
Tt W G WA wE T @
Hiﬂ:ﬁaﬂtwﬂﬁmw

(C) 6, e W
@hmﬁ

21 affq ¥m @ fms S gon & o
20 A ks & vwd T T g
% fm mu 93 &) aw om I @

vl IEE aun ARG TR @ i
Tola T3 8

(H) it Gy
(C) §i waldy @ W Jm
(D) afiwd aryoie

#m o [ wEdE w2 g7 s
o o 2 I 99 2w B A B
g THd IR Hgirg TR o9 T @
ma T T oo A oo A ARy
THE T TOW 9 8|

(A) araré R oy

(B) e w R o
{L]ﬁ!m&ﬂmm
[;n;mﬂmt

TEEER

s e

siaded 15a) [apow«
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TaAB P
0B Which of the following answer figure Q81 ﬁ‘ﬁﬁ‘-TﬁHTr A a7 M omEw o

patterns Can complete the series given in e A né s

it Al #?

the question figere?

L] AR

N < N ©
(A) (B) (A) (B}
g &
: —3
o Z &
(€ IL'_" (D)
- Q82 Which of the following answer figure Eﬁm q#ﬁ'ﬁ il Em?ﬂ'f']ﬁﬁ
; pattemns can complete the series given :'E;T ﬂHﬂTfﬁ! R GO
the question figure? | e RFE 87 :
Fo HoHEEE
E 1 ——— P % i g
E w (D04 @ (00 (A) b{}ﬂl; sy |800 g
a - & . & §
L 0 0 0 z
on What iy the. mk a
. MENMMUm number {1l 3ﬁﬂiuﬁ“ﬁ$mwm- =
A0 make the iven "““F:; T e Yot ) w87 4
o
3
ot ! SR
L5 I 1a '
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UTHARSH
—CLAREEN—

ded - TR, SR, YAPRTS 9 86

HTBATEA

B Arrange the following words as per their

185 A piece of paper is folded and punched as

https://utkarsh.com/student-corner/pyq

mar S placed on the fine MM

weh ol the ANSWLr ﬁs.ufﬂ 5 b ;
age of the given figure? bl :ﬁ?ﬁ;mt?ﬁ dmpt & regEfe #
/ =T
i/ | "
(A) (B)
= v [
=
(C) (D)
|

shown below in the question figures. From
the given answer figures, indicaie how it
will appear when opened.

*L.JE i,

= 7
<qF '
4
(A) }gd 5 A jp.d S
T~ N
L
X P2 © Pl B :{gdhg}:

Qi6 Fratan w=t ot ¥ 1=y 3

orderin an English dictionary and choose an T R 6 TR @ o

the one that comes first. A TN WO &y
preview; pretence, previous;-prettier preview; Pretence; previous; fnettier
(A) previcw (B) prettier (A) preview (0} prettier

[{T7) prefenice | (C) previous  [{D} pretence |

(C) previous

then Q84 o2 vo =dn 3 ¥ MN 9% T oy £
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Q87 A s is given, wilh one word missing
Uhowwe the eorrect aliermatve Trom e
given ones That will complete the series.
Retima, National, Algebra, Radiator, 7
(A} Annarel (B3) Military

() Oirdinary (1) Barometer

%8 A serics 15 given, with ane lerm missing.
Choose the correet allenolive from the
given ones that will complete the series,

FED. HU, NML. PO, VUT, ?

EYRARS () WAY
(7] (o vxw

UR? A serws 15 given, wilh one word mssing
Choode the correct alierative from the
given vnes that will complete the senes.
EEECLEFLFY. EEEEEEFEF,
EEEEEFEEF, EEEEFEEEF,
EEEFEEEERF? o
(A) EEFEEEEF

"" (B0 A sen I uﬂt numh;h

is giken,
missing, Elu corrgel :lfiﬂuln e
from the Mumlﬂwﬁlmmpm:m:

III:HB'-'-

£33 33 ns;”? 46
(A) 1.9 ¢By 13
© 15 (D)6

Q81 If the 5th day of 8 month i Wednesday,
which of 1he following would be the 2nd
day after the 20th day of thal month?

. H (B) Sunday

(D) Thursday
Q92 Aseries is given, with ane term missing,

: Chaaze 1he correey allemative from the

I‘mﬂﬂﬁ'l.hﬁl 'lil“mml e serics
AOFS, BIF6, D1G6, G217 2
(A) LaLs

.,._tc.}. KEinig ‘ ung
ﬂ'h U =

(B) CEE #,, . W
1) LEFEEEEEI ,% §% ﬂl

"JA7 H o A A T owm AR Ry
fﬁmm‘rﬁﬂ?ﬁmﬁﬂ'mﬁnm

@ g e ¥

H;l:!,mn, HI.'EH:IHI.! Algebr. Radiayg +
(A Annarel (0) Mdilvary
(C) Ordinary (D) Barome.s

geg @ o A A UF v @ B g g
=t 7 R M R i[h?m‘ria
ﬂ‘rl
FED. Illl.NML, FQH.‘H'U'I:'.'?H;

iﬂ.'l ZYX (B) WXY

(D) YXw
Q89 @ 3 aft A T qwm @ Row
=i § @ frees gfm o and
ELEEER) FE. CCEEEEFEF,

3LL5H':H EEEFTEEEF,
P Sekergeeerd

tb.aé‘hEEr {E] EEEFEEEFE
EEFEEEEEF {IJ} EEEFEEEEEF

l."'..l

"

IHI @ g A A oow o go 8 R
o=t # # ofim fRea qfn @ o
gt e €
-6.2,-3.5,-08,7, 4.6
hmw1 (B) 17
e L (D) 1.6

Q91 ol fl wérd o oM O wgEw g
o Prefeftn # o m e ol 0
*Wmmﬁﬁﬁﬁ

(A) TG (B} WEr
® o

Q92 g Adh & i §, ol v ez g9 8
mmﬁmﬂﬂaﬁaﬁmi"
Ty 0of B .

ADF3, BIFs, D1Gs, G217,

- e Tuew

W A

s ue

CioidEnd

:
g

BliElck BRUIE 2240 «

siaded 1521 PPOn
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Hed - SIUR, SR, WAPRIE 9 38R

HTGATEA

g code language, 639 MEans “walgr jy
k", 3 16 means ‘juice is dripg and 219
menins "WAler of juice’, Find the code for

(A) |
() 9 (D) 3

In acertam code. RICH is written as 4279
and SNOW is written as 8396, How js
COIMN writlen in that code?

(A) 4547 (B) 9035
(C) 1901 (D) 7923

95 Il'inu:n.u.in-:ndchn:ulg:.‘*'mpcmh
x' -Iu M‘PI‘:HI‘I-“""'.' n:‘fl’pﬂ'.‘.'i:l'll.i'-.b'
and * +* represents *-", Find out the answer
of the following question.

iy 9-34 2 6x 2=

(B) 8

(D) 5

how will BUY be coded
(A) ACE

| (C) DWA |

C. \

If A @ B means A is the grandson of

B, A ¥ B means A is the wife of B and if

A * B means A is the father of B, then

what does X * Y @ Z# W mean, if Z has

only 1 child? ;

(A) W is the mother of X

WB) W is the father of X

4 (C) X is the mother of W
(D) X is the father of W

B7

-
{3
!t

If P % Q means P is the father of Q; P | Q
means P is the sister Q and P * O means
P it the daughter of Q. which of the
- follgwing shows that | is the sister of K's
(AJINGIHK
(CIG*H%K

ra o L —
BI!IG%H"K
(M IMG*HIK

https://utkarsh.com/student-corner/pyq

a T e

AT ED
%

Q93 farehl age wmmt 4 639 w1 ok § “waier s 1
drink’, 316 w7 axd £ “juice is drink’ afry

2019 3 B ‘water or juice . ‘or

fom we wm wi ) :
(A) 1 %1
(C) o I

Q9% felt firdm 5z 4 RICH Y 4279 fivan
il & A SNOW @ 8396 fora onen
B §9 w2 4 COIN #4 ey wmym?
(A) 4547 (B) 9035 5
(C) 1901 (D) 7923

Q95 it frdtw e vim 4%, o' W TR
w8, 0, e weer £

06 HELIPAD ®1 JGNKRCF @9 w2
%hmmtrﬁﬂuvﬂﬁig
wg fam omem?

A) ACE
|§ci DWA |

Qrn T A@BRT it A Bw UL
AVB® 3 8 5 A BT vl # alR

R ABwaed B s A, D w8

WX*Y@ZeWw wmoanf # aft Z,

T duE 1 O R

(A) W, X3 o

(B) W, X% i §

Iy X, Wal m ¢
() X, W fom &

B3| 5215) «

(B) FHJ
(D) KMO

Leliicl ProdylE a0 <

pro®tani ¢ fs p,Qu v R alv
PeQm ael B fn P,QW 50 8]
Prs=afiafien A @ wen wwben & fr R

gfts off went #7 Y a1
(AJINGIH®*K PG H *
(NG *H%K

siaded 153l PPow «
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(B} 1]
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HEDTED

o nAnt IS on,  vea B1F IDY ORURIET N 099 M AN 'g't W, “am i A "
Patber s vnesther *s sonn " How s N orelued mod 4 oWy N, M a1 g i}-en..l.r1
e S A s lemgle® 309 M o afen B by

WA N s the Beother of h'l'hlmﬂuud_.' (A) N\M w ufty oy
i e Tather of M T ECRLCTR:

W N i the Fathernelaw ol M (C) N, M iFT ¢ &
WY M e son of M (D) N, M T 73 [

it o b Tollowing Digure, the syuare (100 Pl w}'ﬂ W s g

vepledents accouniants, the trinngle wulen B, ﬁ‘.[“ w2y ¢
represents arusts, the cirele represents el T Y T ¢ AR iy
planiers wnid the reclangle represents men, el afen & | 3 B W

Which set of letiers represents men who
ane arusts’

&

B2y 5310 «

D101 Which of the follewing Venn diagrams Q101 F=ifaflam 3 497 w i s e,

bent represe relationship between , TRT ot ol & @ @
Rajasthan, India and Asia? g 1w e T §7
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